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M.Com.
Ist Semester Examination, July-Dec., 2021

Compulsory
Paper - [V

Statistical Analysis

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16
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Note : Answer all questions. All questions carry equal
marks.
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What do vou understand by Statistical

investigation? How will you make a plan for

Statistical investigation ?
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Draw up a blank table showing the
distribution of population in 2 district

according to five age groups for 0 to 100
years, sex and literacy.
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Distinguish clearly between primary and
secondary data. Explain the various methods

of collecting primary data and point out their
relative merits and demerits.
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What is Questionnaire ? How does it differ

from Schedule ? What precautions should be
taken in drafting questionnaire ?
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The following data relate to the ages of
husbands and wifes :

Age of husband [ 252830 (32| 35|36|38|39(42(55

Age of wife 20(26(29|30[25|18(26|35(35[46

Obtain the two regression equations by taking
assumed mean for x as 35 and y as 30.
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Calculate Karl Pearson’s Co-efficient of
Skewness based on the following data :

Marks Number of Students
Less than 20 8
Less than 30 38
Less than 40 53
40-50 f 2
50-60 8
60-70 30
More than 70 17
More than 80 4
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Three groups of children contain 3 girls
and 1 boy, 2 girls and 2 boys, 1 girl and
3 boys. One child is selected from each

group. Find the chance that the three
selected children are 1 girl and 2 boys.
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There are four wholesalers and five
retailers in a market. A Salesman visits
any three of them in a day. Find the
probability  that those three are

wholesalers.
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. ' i delay in the departure o
. - " " " pr(t)ip(')m()oz O\Lh:t l); the probability that
i is 0.4.
. zno?:lrccl;? the 10 aircrafts are delayed ?

A speak truth S times out of 6 and he says

that a white ball is drawn from‘a bag —
consisting of 9 black balls and | white ball.

What is the probability that the ball drawn

was really white ?
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In a factory manufacturing fountain pen, the
chance having a defective pen in 0.5 percent,
100 pens are kept in a box. What is the
percentage of boxes in which (i) there is no
defective pen, (i) there is at least one
defective pen and (iif) there are 2 or more
than 2 defective pens? (Given ¢3=.6065)
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